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Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer ’
Sheet.

Candidates are required to give their
answers in their own words as far
as practicable.

Figures in the right hand margin
indicate full marks.

15 minutes of extra time have bee€r
allotted for the candidates 10 read
the questions carefully-

This question booklet is divided into
two sections Section-A and

Section-B.
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in Section-A, there are 100 ubjectfue
type { ecuch carrying
1  mark) of which any
50 questins arc to be answered.
First 50 unswers will be cvaluated

by the compuler in case
50 questions are answered. Darken

the circle with blue / b;ack ball
option on

quus!imm
oul

more than

pen against the correct
OMR Answer sheet provided to you.
Do not use whitener /) liquid /
blade / nail etc. on OMR-sheet,
otherwise the result will be
invalid. hnps://mwv.bscbstudy.com

there are 30 short
(each

In Section-B,
answer type questions
carrying 2 marks), out of which any
15 questions are to be answered.
Apart from this, there are 8 long
answer type questions (each
carrying 5 marks), out of which any
4 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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U - A / SECTION - A

aﬁﬁ"%‘ Wy / Objective TyPp¢€ Quest‘ions ' |
m@r:#:oaw%m%wwﬁmﬁvwéﬁwﬁéwwhﬁﬁ&

sowﬁ%m%:m#mwwwg?ﬁmﬁ om?ﬁZWﬁ'@Waﬁl

50x1 =50

: [ ct. Answe
Question Nos. 1 to 100 have four options, out of which only one Is cOTTe rany

: 50x1=50
50 questions. You have to mark your selected option on the OMR-Sheet.

16 0] =& 4
1. ?JﬁA.—-[“sa ?]'B=[5 1],'~="IBTA-B,Fﬁ o I A &

(a) 1 B -1 |
D) @IS

c 4

If A= [450‘ ?], B = [156 (1):], when A = B, then the value of o1is

(A) 1 ® -1
(c) 4 (D) mnome of these
2, tan™'1=
o B 3
NI o Z
3. cos(sec'1 x+cosec™lx)=
a1 B) -1
1
C 0 D n'.
(C) (D) 7

cosf® -—-sin@
sin0 eosHO

(A) cos 20 -_ ‘/‘Br' 1
C o . & -1

—_—
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S. —_C082x

(sin x + cos x)? o
(A) 2log(sinx+cos x)+¢
Q) log(sinx— cos x) +¢
6. tan'! /3 - cot™}(-V3)=
(A) n
© -3

1 1
(A) 2A
() 27A
- =
8.' a.a=
(A) O
© laf

(B) log (sin x + co® x)+C
) S
(D) - uinx+coax+c
(B) 0
7
(D) 0
3A
D FHH e Rl
B 34

(D) none of these

M

©) la

9. ﬁ?é\';!:z R Aq T THE GEEE, A A FAAE

A) 1

c 2

(B)

1
2 =
D) W 4§ Hig T8 x

- -
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—
If |;|=2 and A a is a unit vector then

(A) 1

c 2

7 ?-fz—ﬁ-c. T HIATH &

10. xXi+y

A) xZ+y’+z

2

(C) 1f;:c+y+:a:

The modulusof x i +y j+z Kk 1is

(A) x2+y2+z

— -

2

(C) qlbr:+y+z

d 2
11. dx (tanx“)=

(A) sCC X

(C) 2x2 sec? x2

12, —( cotx)

1
l"”/‘ 2Jcot x

2

— COSEC™ X

C
el 2Jcot x

2 has the value

1
B 3

(D) none of these

: J;2+yg+z2

1
Jc2+y2+z2

By

(D)

(B)  vcosec?x

cosech

D
el 2Jcot x.
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d , .
13 Ltsinae-axty:

(A) :
1-x? =
- 3 L= I ]
Iy
14. Y (sinVx)=
dx coSJ‘;
B) ""7"'""
(A) cosvx ! N
__L-,L‘OS v
(C) —J-%-.cosﬂ ) ZJT
15. a-c—i—{i’tan'lxl= ,
(A) L. U
I+ x~
1 1
1 D) 3T 3
(C) 2'(1+x_) (1-x7)
6. 4 wm x"-a" }-_-
’ dx(lx—'a xX—-da
(A) na"! (B) 1
17, d—i-;sin“ﬁa.cos"‘ﬁh
w3 ® 0
o n
i 1 D) ¥x.5
18. _dx _
x -1
(A) log|x-1]+k (B) ~log|l+x|+k
G logix-1j+k D) logx+k

[ 121/327 | J [(A)-9003-Jiso) Page 6 of 32




< 2

The order of the differential equation [.d_-é—
d

x
(A) 3 JB/ 4
(C) 2 (D) none of these

X< +1
A) X i2x+k (B) S -2x+k
(C) -‘%i-i*x-i-k l/(D’J/i‘E-—x+k
3
21 37T FHIFOT xdy +ydx =0 T & &
(A) -’5234-—5-’2-2— =k (B) %-—-‘q;- =k
© xy=k D) T W HE T

o}

2 2
TR o 2 y*
ZYRRE S N =

C =
€ xy=k (D) none of these
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22, H=weT gl w:afﬂ.meﬁ%

Yy
X _k
B) -3
g Y AR
X -k o) T
(€) -
= dy .
. : ydx —xdY _g is
Solution of the differential equation ._.————-——-y2
X _ -
< B =k
(A) = =K ”
= (D)  none of these
2=k
(C) Y

d | ¥
23, 3yaehel GHISHTOT a—i‘--}-?y:@ T FHIEGEA TR

edey

w  Jo (B)

\,(;27/ i T (D)

Integrating factor of the differential equatio

fody

e

~dy .
— + Py = 1S

M dx y=0

Pdy
(A) Jodx | - ® 2 y
| | -
(C) eIde (D) e] Y

- .-
24. j . ( K x-1 .].=

MO (B)Il

O J
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25. |%3 7=
R o % =)
NERErEL ®
-
© [(xz9] N~ g CER
d , x3) =
\/f&/ S5 B) 3x°%e*
3
(C) 3x23x2 (D)  3x°e”
d Xy
27 E—r-ﬂogS )=
.,;,@( -1 (B) log3
3x
\(py/ xlog3 (D) 1
28. -—d—(—-—l— + exJ =
: dx\sinx
(A) -~ l e (B) cosecx+e*
sin? x
(C) — cosecxcotx +e* (D) cosecx.cot x +e*
-+ - -
29, kx(ixj)=
- _}'
Wﬂ/ 0 (B) i
4 -~
€ g D) k.
121/327 | J [(A)-9003-Jwo) | ,Page9of32



30.  [log2dx =

B sk

(C) xlog2 + k

31. I sSeC X dix=
sec x+1anx
(A) tanx +secx+k
(C) secx+k

1-cos2x die

2. 1 + cos2x
(A) tanx+x+k
(C) x—tan2x+k

33. "-.'.:c:-t2 xdx=

@ o2t "

o x log2 + ¥

(8) anx-seex
tanx——x“"k

(A) cotx —x+k
(C) —colx—-x+k (D) x+cotx+k
\WA B 9
© 3 o
35 jz(xz +1)dx=
0
8
(A) = 14
3 (B) 3
c L 1
' 3 (D) 3
T _ .
[ 121/327 | J [(A)-9003-Js0) |  Page 10 of 32




36.

2
J'ﬂf cosxdx=
0

(A) 0 o '
b}
© -1 1 2) BN
1 dx__
37. Io X -fl -
A) log2 (B) -log2
©) - 2log2 (D) ~2log2
38. I;"Qlogcote.dﬂz'
x x
(a) Zlog2 B) gloe2
(C) 2nlog?2 (D) 0
n/2 _
39. _[_Klecosxldx—
© o @ 4
n/2 cosO -
40. IO cos0+sin® He=
(A) = B o
® 5
c = D =
3 (D) 4
a1. | LeXdx =
0
A) e B) e+l
(C) e-1 (D) l1-e
(A)-9003-Jia0) | Page 11 of 32
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42. ';%E _\.“_';"0 cos3x ] =
(A) -sin3x
(C) - 3sin3x
43. E";(JJE )=
W =

‘y,/ .
2Jx

44.
A i
A 3
(&) T
45. sin"(-x) =
A)  Z_sin!
(A} 5 — sin X
(C) -sin"lx
46. cot™! L, Y —
.
(A) -—cot™lx
© tan'x

10 2
47. Iss 7)=
~

o 140

(C) 35

cos” 1 (2x)+ éin'l (2x)=

ooooooooooooooo

,(x>0)

(B)
(D)

(B}
(D)
2xe[-1,1]}
B)

(D)

(B)

(D) .

(B)

(D)

. (B)

k9

vb)

I 4 sin”

o)

win
*
w
-
N

C ala

sin X

X

0

[ 121/327)J
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ae [4 9]0 8]
w [39] @ (33
! o [3 3] W 31
a9. 57)=
a st B  x5*
© s (D) 5% .log.S

50. qu)(x]dx+‘l';(p(x] dx =

[+3
(A) 2j:q>(x) dx (B) 2]'[1 o(x) dx

() O (D) 1
x+1 () m2 '
51 AR ozl @3=1 | @ x+o® 1 =0 @l x=
' 2 1. X+
A) O .B) o
€ o3 | D) T ¥ ®HE T
_ x+1 0] w2
If o1, wl=1and| ® X+ 0> 1 |=0 thenx=
w2 1 X+0
4 O B) o
€ o | (D) none.of these

o

.
i R
2yl i
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52. 73t A__{cosu ~sinu] 3T A+A'=12,Fﬁ o=

sino cosu

T
(A) n (B) =
5 =
(C) %’-" ( 6
If A=["‘.’S§ ”g'é:g] and A +A'=I,, then o=
sin
ﬁ
(A) =« B 3
L
an D &
(C) 5
53. AUH & SR ¢ o A + A’ 3TEET & B
- ot HATE
(A)  HfT 3R B) oA
(C) EFle e o) A AR
A is a square matrix, then A + A' is necessarily |
a symmetric matrix (B) askew symmetric matrix
(C) a unit matrix \J,Df a zero maltrx
54 ?TF‘{A=F 0] J:‘i':[1 O]aﬁIA2=B,?ﬁx=_
' 1 1/ 2 1 .
(A) -1 (B) 1 |
c 4 D) T ¥ HE 7w
i A=BL ?]' B=B (1)] and A% = B, then A=
6 4 e (D) none of these

[ 121/327 ]J (A)-QO(E!-S(M) Page 14 of 32



ss. A A:[(l) ?].a’t

(A) A ) @1 A 2 (B) | Aj=0
(C) PREE R (D) i @ wE T
If A.»:[(l) ?] then

(B) | A|=0

\y{f A lexists

(C) A-! does not exist

56. Waﬁwﬁazﬁ%q&wﬁm%

A 1

(D) None of these

B) 2

() 3 (D) AT

The number of unit vector(s) perpendicular to a plane is

(A) 1 https://www.bsebstudy.com B) 2

© 3 P -infinite

- -
A) a.b=5 (B) P

- —
(C) a.b=0 D) T | H3 TR
- - - -
Ifa=2i-j+2k and B=—?+7—z,then

- -
(A) a.b=5" | (B) 33=-5
©) - > | :

a.b=0 (D) none of these

121/327 ] J [(A)-9003-J40) | -Page 150f32




(C) a
59. T x k=
(A) 1
=
\,LO’/ J
_ =
60. axb=
- =
g’ bxa
- =
© a-.b
1 - x2
61l. COS-I'—-——‘E‘ = O = (| x|<1)
1+ X
(A) 2cos™ ! x
() 2tan’'x
. ~1 1
62. 3sin™ " X= .ciccenenees ,lesa
(a)  sin~'(4x’ - 3x)

sin~!(3x — 4x°)

63. tan~) .:_1,] _
(3

a3

o -3

(B) 25'111‘1 x

(D) tan~' 2x

(B) sin~}(3x + 4x

D)  sin (@x° —4x)

(B)

oA

R

(12173271

(A)-9003-J40)
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=, -1
64. sin(secc I x+cosec” x} =

65. 2£an'1§1+tan

66. ORUH

The valuc of the determinant

(A) 23
(C) 1

1 a b+c
67. WFUIEI; b c+a

1 ¢ a+b

(A) (1+a+b+c)

© 1

The value of the determinant -

(A) (1+a+b+c)

c 1 .

-~

FIAH &

B O
(D) 1
(B) n
(D) 2n
(B) 0
D) I § wE T
1 2 4
3 7 9lis .
4 8 16
B 0
(D) None of these
(B) (a+b+c)
D) O
1l a b+c|
1 b c+alis
1 ¢ a+b

(B) (a+b+c)

Dy O

[121/327 | J [(A)-0003 Jwor
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68.

AR

7 11 13
17 19 23| @1 AR &
29 31 37
6
(A)  -36 B 3
' e AR
(€ 20 (D) o @ P
¥ 11 18]
The valuc of the determinant %’; :135{ gg is
(A) -36 B) 36
(C) 20 (D) none of these
-1 .
69. dRX A=[_{ | J.a‘r A% =
(A) 34 (B) 4A
uel 24 (D) = @ S A
If A-—-[_i '%] then A3 =
(A) 3A B) 4A
() 24 (D) none of these
a h g
70. 3TE |h b f|T
g f ¢
(a) fowm wmia sege B) QT AT
€ T D) T | WIS

a h g
Matrix \| h b f|is
g f c

(A)
(€)

skew SJﬁnmeuic matrix

unit matrix

v(’B]/"symmetric matrix

(D)  none of these

[121/327]4J
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d s
5 (l(:g\/,\) &

71,
A} == (B) 1
2Jx o
1 3
(C) 7 (D) 2
72. d.zz (sin2x) =
(A)  4sin2x @)  4cos”’2x
(C) - 4sin2x (D) 2sin4x
73. ag-x—(ex"a ) —
(A) ™" (B) (x - a)e* ™
€ e o) -e7°
. d3
74. dxg (x%)=
@) 4x° B) 12x°
(C)  24x D) 24
75. j‘;( x2+ax+1J =
W i g e
owWx? +ax+1 2Jx2+qx'+1
(C) 2x+a (D) 11_
x2 +ax+1 21"x2+ax‘+1
d
76. Ex_'(2ezx ) =
: (A) 262x [B] 62x
wef  ae> D)  2e”
Page 19 0f 32 :
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77. ‘a‘;-{logx" )= ?;‘
w L B n §
X" ;
I_l_ %
(C) 71- () x 5 -
[ P A
78. aﬁ A:{a,b,c},3={1r2.3} Sﬂ—{ f:{(a,l),(b 2}.(‘:;2]‘ f
S A £l
(A) @Tﬁ i &idl (B)
uFF TS RH
(©) 3R STBINH (D) _
nen what type of o

If A={a,b,c},B={1,23} and f={(a,11,(b,2),tc,2)}

function is /7?7 - .
-one 1nto
(A)  onc-onc into B  many

(D) one-onec onto

1 Pt ® T ?

many-one onto
70, A fiR R, SR flx)=3x-4, f

® 5x-Y)

(D) Wﬁﬂl’fﬂﬁ ,

4)  Flx+4)

(C) 3x—4

' B Y
If f:R — Rsuch that f(x)=3x-4%, then which of the following 1S e s

B E(x+4) ® 5lx-4)

3@]// 3x-4 (D) . undefined

T
80. coscc™ (- x)=
(A) —;-— cosec™lx - {B) n - cosec  x
(C) cosecx . (D) -cosec™'x

[121/327]J [A)-9003-Juo) | Page200f32 .



(A) 1 (B) -1 ’
(c o Dy T @ W A8
Ir :: L g then :‘; g =
(A) 1 B -1
(C) 0 (D) None of these
- = -
82. i (fxk)= ] |
c -1 (D) 2
83. flogxdx=
(A) ;]‘-Hc (B} xlogx+k
(c) xlogx—x+k (D) - xlogx+x+k
A2
84. n =
(a0 - ,/H/ 1
-p
© -1 ' > n

gs. T WY G x, y I z &7 & 6 e o W wHEn o, B3 y T RN €, A
(A) cosgr.:wclr.ss2 f3~+c0=32 y+1=0 (B) sin? o +sin> ﬁ+siz12 y=1

(C) c:os;2 o+ Ccos B+cos 7— 2 (D) c052 a+cos? B+ cos? y=1

If a line makes angles a, pand vy w:th the posmve dlrectmns of x, y.and z axcs
- respectively, then

(A} cos? o +cos? [i+c052 y+1=0 (B) sin? o+ sin® ff‘)+ sin?y=1

(C) cos? a +cos? B+co§27= 2 (D) cos? a +cos? [3»+cc)'.s2 ¥=1

i 121/327 ] J [(A)-9003-Jis0) | Page 21 of 32




A

8 O .
% @i 2x 3y = 3M ox

(A)

tJl=

© 2

The angle between the straight lines 2x=3y=-z an

(A)

(&) B

(€)

o 1

Y-

42'&53%3513’:1"1%

3 O
o)y 7
d 6x:-Y
(B O
D 7

g7. 4% A, B 3R ¢ a9 w@ad g2 &, @

(A) P(ABC)=P[A]+P(B)+P(C)

(B) P(ABC)=P(A)-P(B)-FP(C)
() P{ABC)=P(A).P(B).P(C)

(D) 3T | FIS A&l

If A, B and C are threc independent events then

(A) . P(ABC)=P(A)+P(B)+P(C)
(B} P(ABC)=P(A)-P(B)-P{(C)
\/(Q)/ P(ABC)=P(A).P(B).P(C)

(D) none of these

© 88, PA)+P(A)=

. . 4218

A 0 B) 1
h",f1 (D)  P{S)
89. 1-m£hhw= _
(A)  P(ANB) V«ﬁ)/ P(AUB)
- ©@ Pl D) PB)
[121/327]J (A)-9003-J40) Page 22 of 32



Q.

o1.

Z = 3x + 4y 1 Afuehad A7H

el fop =Eaiy x+y s 4

x20,y=20
.?‘.
(A) O B) 12
(C) 16 (D) ?F'Tﬁ :-.‘:" ﬁé :‘ﬁ
The maximum value of Z = 3x +.4Y
subject to constrair;ts x+ys4
x 20,y 20
1s
(A) O \15/ 12
(C) 16 (D) none of these
siq-Es ¥ w9 3 e HT T FHE Bl §
x Y Z _ X —y.- -
(A) '&"*'B'-i-—c-—o (B) a+b+c 1
c X-Y_2-0 D) T F HE T
a b c
Standard equatioﬁ of the plane in intercept form is
X, Y,2z2_ x, Yy.z_
(A) a+b+c ¢ (B) a+b+c 1
(C) -;5 —-% ~ f- =0 (D) none of these
7o g & fog (3,4, -5) R R @
(A) 6 (B) 5\[5
50 D) T Q H T

21/327 |J [(A)-9003-J40; | Page 23 of 32




-5 ) from the origin 18

V‘,B,/ 52

The distance of the point ( =3, 4.

(A) 6

(©) 50 (D) none of thes€
93. (-4.-3.7) 3N (-1,1,-5) AR T

(a) 12 ) 13

© 14 o A

The distance between (-4, =3, 7 ) and (-1, 1,-5)1is

@ 12 - ‘)50/13'

© 14 (D) - mone of these
on. Rk asik B Qe @ p(4)rP(5)

(A) 0 _ (B) 1
w© -1 o) T W
IfA and‘ B be two events: the_n P(%)+ P(%)=
Ay - 0 | (9’/ 1
(C) =1 | (Di . none of these
. _ 3 .
95. —d—x-(sm 2x)=
(A) cos2x | (B) cos 2x
| , 2
() 2sin2x = - . (D) .

| 121/327 1J | (A)___—QOOS-J (40) Page 24 of 32




d _
96. ‘—j?(lankx)—

(A) scc? kx

(A) (x + 2]3 + k
2
%--{- 2x+k
3
98. ; dx =
(A) 4

€ 0

100. Isinx.cosxdx=

(A)  Ssin2x+k
Q Sinix,

(D] . log(x + 2)+ k

(B) 2
1

(D) -5

B -1

(D) 2

(B) sigx e

2
(D) coz X +k_

121/327 | J |(A)-9003-Jio)
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@wvs - & / SECTION - B
71 Iw¢a 9¥T / Short Answer TYP® Qv - 1 wew N &v
m#w;#aaawagaﬁﬁﬂ#:m#ﬁrﬁ:snﬁ’ 1 3mat
2 9% Frffia 21 15 r;ucslum'» f«“f]"‘l; Ciu;a:?d

es tloﬂ

i per any

) s
Question Nos. 1 to 30 are Short Answer Type. Ans

carries 2 marks. i

1. ﬂﬁ,A-—--{i ;}Fﬁ Aa T I
x2

y? ;

\’.

U

5 B @ x T HE FA HIST

Find the value of x from the following :

2x-y S5)_(6 S
3 y) \3 -2)°

16 9 7 .
3. arforE (23 16 7 | o0 |E T S
32 19 13
16 9 7
Evaluate the determinant (23 16 7 |.
32 19 13

d .
4. d—i’- fTeTet, ST x=acos?0, y‘=asin20.

. . d '
Find ?i_z—’ lwhen x=acos? 0, yzasingﬂ.
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s. sk x2+y%=3 & &3 (1,J§1mmﬁmﬁi

2 2 _
Find the slope at the point (l.ﬁ) of the curve x~ +Y =3,

a-b b-c c—a ’
6. WRI® |b-c c-a a-b =7 T THRTe | 2
c—-q a-b b-c
a-b b—-c c—-Q
Evaluate the determinant |[b-¢c c-@ 4= b
c-a a-b b-c
W lim
7 n—o z 2
r=17
T
- ium
Evaluate n_w, ——3

0@ x== a3 8 aia'tﬁaf:mﬁ_ i

8. x37 3K TF y=sinx AT x=

Find the area between the x-axis and the curve y = sinx, from x=0tox= m.

9. &7 ¢ : tanydx+tanxdy=0. https -//www.bsebstudy.com

Solve : 1_:anydx+tanxdy=0.
10. @I GEF fiR - R onto & S f(x)=2x 2 SHICOT |

Is the function f:R — R onto function where f(x)=2x ? Give reasons.

1. mﬁ%m-&%_m—l i,

Prove that sin'l-——‘/-i---=1:an"1 “-‘E .
| Jx-t»a a
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x’.’

= N =

12, ;

1+ x
x?

=% 2x q"
Prove that tan -l-sin | 2= + 5 CO + X
hat > L+ x2 2 1

13. fog o fe alk¥r (s, -4 2) 3T (2. 1

Show that the vectors (5, -4 2 ) &

another. 5
-
- b o= 3

A

» > . - 3
14. a:sbﬁ'éﬁlﬁ,ﬁﬂ‘fﬁﬁa=21—-3k,
-

15.
If a=(23-5) and

—_ —_—
a and b.

16. s FL: y(l+ xy)dx—xdy=0.
Solvc:y(l+xy)dx—xdy=0.

17. &A1Y : +1 e*ty.

Solve : i‘y—+1=e" ¥,
dx

2 . -2 =
18. mﬁ_%(2+3).(a~b)=a2—b2.
R T o n
Prove that (a+b).(a-b)=a“-b".

19. e 9 [cos® x dx.

Integrate Icosz x dx.

dy o~ __~
20. a—xy- &, 99 y =sin(log x}.

. . d
Fmd —d-% when y = sin(log x).

1=

..3)113’7?&
nd (2107

2
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21,

28.

26.

27.

A &1 ady cydx xy.dy.
Solve : xdy 1 ydx - xy.dy.
v @Al a5° 3 6o° O

TR e Ta x SR y-otwdl @ e TR % Wl
o1 ST ? 2

T X | YR 4 3787 W) UHISTE (G0 % QM faan
and 60° wi

- 11 » 1 . l' i‘ c
A straight line makes angles of 45° th the positive dircction © th
¢ does it make with the posiuy

¢ dircction of

x and y-axes respectively. What angl

3, 4 A

the z-axis ?
y 3T z aredl W 3En@US FHI
2

At @ i @m s S x
-5%I
Find the cquation of the planc whose intercepts on the
respectively 3, 4 and - 5.

A B T
R Play=2, P(B].-s.% @ PANB)=T, @ P(-g) e P(A,) freeTet

axes of x, y and z are

2

A B
If P(Al=g, P(B)=%and P(AﬂB)::-i—, then find P(_fg_’) and P(A'}'

23 11 12
46 20 26
65 45 20

=0.

fag = 1%

23 11 12
46 20 26
65 45 20

=0.

Prove that

.g%ﬁmﬁaay:m,

Find %, when y=JsinJ§.

-

dY el sin
ol Fﬁf — .
dx = Jcosx

.. . dy .2
Find — ’ when y= sSin_X . :
dx y Jcosx _ _ ) ) |

[ 1
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28. WS H [JT-sin2x dx.

Integrate I 1-sin2x dx. ”

29. Ivcos[logx) dx 1 T A e
0 X

ecos{log x)
Find the value oI'I .-—-L—-E—— dx.

- 2
30. ﬁq:@:ﬁ%jg’ Jogtan xdx =0.

2
Prove that r”' logtan xdx =0.

mmm#asaﬁaﬂﬁum%lsﬁﬁﬁﬁﬁ4
5 3= Fraifea )
estions. Each

. u
Question Nos. 31 to 38 are Long Answer Type questions. Answer any 4q Lo = B
question carries 5 marks. https://www.bsebstudy.com

31. ¥ tan!x+tan”'y+tan” z- A fag W yz+zx+xy=1. 5

If tan™! x+tan™! y+ tan 12—2 , then prove that yz+2x+ xy= 1.

i _ b+c)? a? a?
32. THES FHEE | b2 (c+al b2

& ¢ (a+b)?

Factorize pe (c + a)2 b2

e* c? (a + b)?
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33. [vg #ifsw & -1
el A . 1 X 1 2 5 3
ABy '=p"'a"! @i aA=|1 2 3|,B=|3 } 2\“

p _ _ 1 1 2 5 3
rove that (AB)™!'=B"'A™! , where A=|1 ; 3|,B=|3 1 QX'
1109 1 2 1

dy '
34. -CT;- ﬁaﬂﬁ, g xy+yx=1_

a dy
Find — y > o
in a , when x¥+y”*=1.

35. oA & j':an‘* xdx.
Integrate Itan" xdx .

- d
36. WL : (xF -y =Y

d
S . (x2 2,4Y .
olve : (x* -y ']-—-I = 2xYy

a1 3x + 4y — 5z =2 % WO &

oint (3, 1, - 4 ) with respect to

(3, 1,,_4)$Tuﬁlﬁﬁﬁﬁﬁ%ﬂ\

37
the plane

Find the image of the p
3x+ 4y -5z=2.

38. srfictoT Te AR W -

Z =5x+10y

Sefeh x +2y <120

x+y =260
x-2y=0

x,yz0.

\
~
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Maximize and minimize Z = 5x +10Y

subject to x+2y <120
x+y =060
x-2y =0

x,yzo.

ﬁ
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